SUDOKU N°2

Grid n°1:
N = Number
Number of of edges of a
sides of an (y=4)(x=3)=0 cube
octogon rhy=? % o
V81 (V2x\3)
(GF)//(BC)
AF (2) -1 /35 +T6
(diagram 1)
Number of -
V2x2 squares (\/5)2 J36
(diagram 2)
2x+y=2
e 4437
x+y=2?
Solve
2%3,5 e
Number of
(_1 )2 f(;i:: ; sides of this
nI:lmber cos(60°) pyramid
(diagram 4)
30000 Stf]e‘
problém
10000 el
Arteg oflthis Flx)=2x+43 ( 4 )2
riangle - -
(diagram 3) f3)=2 \/4

Problem n°1: Calculate:
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Diagram 2:

Diagram 3: = Diagram 4: ABCD is a pyramid with a triangular base:
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(ABC) is a side of this pyramid.
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